Update of signal reconstruction(® ) in Run2020 FXT Au-Au 5.2GeV
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. efficiency of new data
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. efficiency of new data
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. efficiency of new data
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. efficiency of new data
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spectra
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spectra
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spectra

edefault function:boltzmann
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. Summary

echeck the efficience of new data

*Get dNdy in meanpt and dndy vs y

To do list

*Get system error in 0-10% and 10-40%

yulou

11



spectra

*Cen:0-10%.
syield:integral method (fit function’s first parameter)
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spectra

*Cen:0-10%.
syield:integral method (fit function’s first parameter)
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_Back up

*Cen:0-10%.
Efficiency
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_Back up

*Cen:10-40%.
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